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3K = (x x T e # SR -3 < x < 7) T A F AR w9 A ferll 1
Write set in Roster form A = {x : x: is ap integer and =3 < x < 7}.

2.}?&4}:{1,2,3,415}aﬂxA:{l,s,S}ﬁrAarwmanﬁ@: | "1
IfU = {1,234, '5} and A = {1, 3, 5} Then find compliment of A. )

3}1ﬁ:A (1,2,3) B = {x,y) @ A ¥ B & Feitil = e T HU | | 1
If A= {1, 2, 3} dndB {x, y}. 'find‘ the number of relétion frémAto'B. .
zxﬁ-:G [78} ={5.42) AGxHMHUxGC TasAl g

IfG {7 8} and H = {5, 4, 2}. then find G x H-and H x G.
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Convert 3 radians in degrec.
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Find the value of tan (-* TJ

7. -1 94 e g A1
Find tl_lp additive inv_ei'se of éomflei nufhber 1.
8. _HHTEH 4x + 3 < 6x + 7 F TAIA L
Solve iné:quality 4x '+l 3<Ox+Tp
9. ARITFA a_ =n (n+2) N a, TA F - !
Find a4 of the sequence Whose n'™ term are a, =n ( n+ 2). |

/gﬁmﬁ?ﬁ%(x,,yl)@wﬁw%@aﬂwwaﬁm: 1

 Find the equation of line which satisfy the given conditions passing through the
point (K], y;) with slope m.

/?a'/mrmﬁa:{ur(x_3)2+(x-4)2—49ﬁqawaﬁ:aﬁmmmﬁl | 1
Find the centre and radius with circle (x — 3)? + (x — 4)2 = 49.

12. ﬁqﬁ?ﬁi’[ PI’OVE! that : http://www.rbseonline.com ~ 2

3n 3r
LO&(*4—+?&J cos(z—x]z—\@sinx

/m/zﬂa cosx:—?ﬁxaﬂlﬁmﬁﬁﬁﬁﬁl 2

ﬁ .

~ Find the general solution-of COSX = ——

,a

/le quci"ﬂ?{UTx2+3x+9 0 & 3 HU |

Solve the equatlon X2 +3X +9=0.
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Find the co-brdinates of foci; the vertices the length of the major and minor axis and
the eccentricity of the ellipse 36x? + 4y? = 144.
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16 Waﬁ‘eﬂmaﬁaﬂ’t [xﬂoo} | 2
oo lllTl Shall
E"f"“?“’ X X + IOO
4’7/1%&’@1%5 : sinz.ﬁlx.— sin®4x =%in2x sinl0x . - 3
. Prove that : sin%6x — sin24x = sin2x sin10x i}
18. ﬁm’mw%maqﬁmmm ' '. 3

f(x) ﬂ.,‘ -1
Fmd the. Domam and Range of the real funcuon ;
'fl(x)z,/x -1
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Conver; in Polar form 1+iv3°
m/wfm%aﬁﬁ?nqﬁme@ﬁmﬂKafﬂa(SKﬂ)%l 3

Find sum of n™ terms whose K".term is.(5K + 1). : ' ~

fereht ﬂUﬂTﬂ' ’ﬁ'@ﬁ ﬁkpﬁl'f, qfa'f'ﬂ?ﬂ'raf,‘,-'l?:{ A a, b, ¢ T @ fag FU T+ -

Y]

a%r p"P. cP9=1-
If the p’h q”‘ and ' term of G.P. are a, b and ¢ prove that at™ b P =],
R sA(x, x +5); xe {0, 1, 2, 3, 4, Slgmwﬁﬂrﬁsaaaalzémanﬁmmﬁmw

If Relation R 1s defined R = {(x, x +5); xe {0, I, 2, 3, 4, 5}. then find domain and .
range of R. . a
FI3.
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Pp}ove that for all integers n > |
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Solve the system of inequalities gmphically
x+y>5 X-y<3
25, ,ﬁm%@?mwwzm_ztw 10 = 0%3@@
(1) W < EvS ®Y (2) m:@@mﬁﬁwﬁ|
Equation of a line is 3x — 4y + 10 = 0 reduce into
(1) Slope inter;:e_pt'form' | (i) Intercept form..:
(k .+ 2y)? % TER F x6 3-éﬂ11trriaa1ﬁ§wft| 4

i 2&1 the multiplier of x%y3 in expenssions of (x + 2y)°,
W"{ﬁmuﬁﬂiﬁtﬁ@aﬁﬁﬁﬁ( -4, 6, 10), (2, 4, 6) éﬂ"{(m 0, ~2)

el | o 4

Using section fbrmlﬂa prove that three points (-4, 6, 10), (2, 4, 6) and (14, O =~2)
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Ei nd the derivatives of cos x from first 3mcrplc

7 afg U = [12,_,456?89}A_\{2468}B 6357}&@%@
EE | 5

(1) (AnB) =A'nB" (2) (ANB) =A"UB’
IfU=1{1,254,567809),A={2468),B =123 37), then prove that

(i) (AnB) =A’NB" @ (AnB) =A"UB
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